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7. y=sinx+1 0°<x<360°

8. y=cosx-1 0°<x<360°
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10.y = Vacos x




11 a) y = sinx and y = 2.cosx-180° < x <~480°

12, y=-2.8inXx -180° <x<180°




13. y = -Y2.cosx

14. y = 2.tanx

-180° <x <180°

-180° <x <180°




15. y = sinx - 1 0° < x < 360° vt
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17. Forq 3 -5 & 7-10 Give the a) domain b) range c) period d) amplitude e)
maximum value

3 a)y=sinx and y = cosx WHO" 4. y=-sinx -180° < x < 180°
a)D=x-180" < x <180° b) R=y: -1=y <1 a)D=x-180" < x <180° b) R=y: 1<y <
1

c) period = 360° d) amplitude=1 e) maxval=1 c) period = 360" d) amplitude =1 ¢e)
max val = 1 ,

S. y =-cosX -180° <x <180° 7. y=sinx+1 0°<x<360°
a)D=x-180" <x <180° b) R=y -1<sy <1 a) D=x 0" <x<360° b) R=y:0<y<?2
c) period = 360° d) amplitude=1 e) maxval =1 c) period =360 d) amplitude =1 e)
max val = 2

8. y=cosx-1 0°<x<360° 9. y = 2.sinx 0°<x<
360°

a) D=x 0" <x<360° b) R=y:-2<x<0 a) D=x 0" <x<360° by R=y -2<
y<2

c) period = 360° d) amplitude=1 e) maxval=0 c) period = 360" d) amplitude =2 e)
max val = 2

10. y=%cosx 0° <x<360°



